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Part A. Grammar and Vocabulary
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completes the blank. Then mark it on your answer sheet

| B e marw———— e .

Directions: Choose the number of the answer choice (1),
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51-  Input devices are the pieces of hardware ............
into the computer.
1) ”ll,'_"n. allow 2 to allow

3) allowing
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59. Bats play an important role in the environment. About
species feed almost
control

1) immediately

3) exiremely

2) terribly

4) exclusivel!

The physician warned the patient that hes
much likely to lead fo problems of .........cocoavmme
[) mysiery 2) obesity
3) situation 4) volume

{pf;r

_on insects, thus assis

seventny percent of bat
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Part B. Reading Comprehension

Directions: Read the following passage and .;hum-t the number of the answer choice
| (1), (2), (3), or (4) that best answers ggch question. Then mark it on your answer

»:hm?t

Nuelear power capacity remained relatively stable hetween the mid 1980s until the
accident at the Fukushima Daiichi reacroy jn March 201 1. In June 2015, Platts reported
global nm.luur generation increased by 1% in 7014, the first annual increase since
Fukushima.

The United States produces the most pyelear energy, with nuclear power providing
19% of the electricity it consumes, while France produces the highest percentage of its
eleetrical energy from nuclear reactors_ g% as of 2006. In the European Union as a
whole, nuclear energy provides 30% ofyhe electricity. Nuclear energy policy differs
among European Union eguniries, and spme, such as Austria, Estonia, Ireland and Ttaly;
have no active nuclear power stations, In comparison, France has a large number of
these plants, with 16 malti-unit stations in current use.

Many military and semie ¢ivilian (such ss some icebreaker) ships use nuélear marine
propulsion, a form ef nuclear propulsion, A few space vehicles. have been launched
using full-ledged nuclear reactors: 33 reactors belong to the Soviet RORSAT sefies and
one was the American SNAP-10A.

61- It can be inferred from paragraph | that what happened to the Fukushima Daiichi

reactor in March 2011 .....oconviaiaiinn
|) caused Plalts to present a ci}mpluhtmuf report about global nuclear

generation

2) led to an only 1% nuclear energy use wortdwitle for about 3 years
mml 3) negatively affected the nuclear industry for some years to follow
4) contributed to the stability of nuclear pr(.m-'cr capacity promotion

62- Aeccording to the passage, which country generates the most nuelear énergy?
1) France . 2) The European Union
s 3) The United States 4) Austria. Estonia, dreland and Ttaly

63- ‘What aspect of nuclear energy is paragraph 3 mncerned with?
mm- | ) Its functions?
2) Its military use
3) The way of its generation
4} in what areas of human life 1t is u;m the most

64- Which of the following statements aﬁfpnt nuclear energy policy is suppnned in the
passage? ,
1) It first began to emerge and was subsequently revised again and again after the
accident at the Fukushima Daiichi reactor
2) It is stricter in countries where
| fwm nuslw reactors.

gentage of electricity is obtained
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